H
Q

o(d 5) (um) for PV
o

107

o0 X) (um)

,_,
S

N
(S)
s

102k

H
S

) for merged vertices (m)
o
[}

o(d X

107

0(6&/‘) (um) for PV
o

; i) i F ;
: 3 o] . :
: o o [ H
; 0.5 05 -----+ Feeeeees RS SRRCEEE EELTPRLIRTLERE
40 20 0 20 40 60 %60 =40 20 0 20 40 60 %0 =40 20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)
DQM_original_ste A_Btupum_elazé)btm 0
—_— DéM_mk it SthP _Pt pltol etaZP to4p
—— DOQM™pixelCPETemplate step2 ptOpltol eta2p5to4p0
B =10" 3
: € .
3 -
=
)
5

0

20 40 60
Vertex z (cm)

a(0 z) (um) for PV
S

107

40 =20

0

20 40 60
Vertex z (cm)

0(0 2) (um)

Ratio

1023k

20 40 60
Vertex z (cm)

=20 0

1072

103k

20 40 60
Vertex z (cm)

40 =20 0

=
<
N

a(2 y) for merged vertices (m)
o
1

20 40 60
Vertex z (cm)

i
S
N

0(3 2) for merged vertices (um)
o
)

20 40 60
Vertex z (cm)

40 =20 0



	Contents
	Page 1


